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[bookmark: _GoBack]Figure 2. Estimated survival function curve for TTP, corresponding to the elapsed time from stopping contraception to confirmation of pregnancy or end of pregnancy attempt in the overall population (A) and in Group 1 (C), and sorted by age of women (B) in the overall population and in Group 1 (D). Group 1 comprises women who had spontaneous pregnancy in the last year. Solid lines represent the curves for the estimated TTP censored at 120 months; dashed lines represent the 95% CIs around those curves.
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